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QUESTION 1

What is the definition of a task workflow in SAP Data Hub?

A. An SAP Data Hub task workflow executes the ETL processes

B. An SAP Data Hub task workflow orchestrates multiple tasks and executes them in a given order.
C. An SAP Data Hub task workflow is responsible for data aging in SAP BW/4HANA.

D. An SAP Data Hub task workflow creates the underlying data model of the SAP Data Hub.

Correct Answer: B

QUESTION 2

Which of the following sources can you connect to SAP BW/4HANA with the SAP HANA source system? Note: There
are 2 correct answers to this question.

A. SAP BW/4HANA transformations.

B. Web templates

C. Local SAP HANA schemas.

D. Remote sources available with SAP HANA smart data integration and smart data access.

Correct Answer: CD

QUESTION 3

Requested-based deletion would solve which the following problems?
A. Deleting data for a specific company code and division combination.
B. A targeted deletion of change log data.

C. Deleting the last load of bad data.

D. Deleting the request from both the change log and the active table if the request was already activated, but not in the
follow-on target.

Correct Answer: CD

QUESTION 4

filter is defined to apply to the whole query but a restricted key figure only filters a single key figure value. Determine
whether this statement is true or false.
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A. True

B. False

Correct Answer: A

QUESTION 5

On which of the following objects can you restrict a characteristic?
A. Formula

B. Exception

C. Hierarchy node

D. Condition

Correct Answer: C
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